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D2 2o SHY SYNE
Sl 2 SN 2e|2d(AASHASES|N) (&9 8 )
S - B S9(30) - HRAY - BES ol&tey pJE-L! HImz2
gHo=d 560,040 480,040 80,000
22 gH3 2SR 560,040 480,040 80,000
2o M 22 (HALSHASLESIN) 560,040 480,040 80,000
22 g3 29 560,040 480,040 80,000
201 deh=2E| 54,400 119,400 265,000
01 At22teld] 39,400 89,400 /50,000
OA2F wAbl 19,320,000& 19,320 19,320 0
OE Nl E1bHb| 15,080, 000& 15,080 45,080 /30,000
OJIEt =8| 5,000,000 5,000 25,000 220,000
02 S5=3H| 15,000 30,000 /15,000
OMIz-+=E2 1,500,000&*10& 15,000 30,000 /15,000
307 gzl 145,000 245,000 100,000
01 2= =H| 145,000 245,000 100,000
Ot &l 1,450,000& 100 145,000 245,000 100,000
801 OilHIbI 245,000 0 245,000
01 LEHobIL] 245,000 0 245,000
ool 245,000,000& 245,000 0 245,000
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